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M.M.100
Important Instructions:-All questions are compulsory. Q.Nos. 1 to 10 carry 1 mark each , Q.Nos. 11 to 22 carry 4 marks each and Q.Nos. 23 to 29 carry 6 marks each.

Section-A

[image: image16.png]1. If *: R         R ,a,b,c,d є R  such that (a,b) *(c,d)  = (ac, b + ad) Find the identity element of the function.

2. Evaluate 
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3.  Find perpendicular unit vector to ‘a’ and ‘b’, if 
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4.   Find gof(-5/2) and fog(3/) if f is identity function and g is  signum function .

5.Show that the points A (1, 2, 7) B(2, 6, 3) and C (3, 10 ,-1) are collinear.

6.If A and B are two matices such that  AB =A and BA = B then what is value of B2..

7.On which points the given function is not differential , f(x) =(2x+1(+(x-1(
8.Evaluate 
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9.If a line  y = x + 1 is a tangent to the curve y 2= 4x . find the point the of contact ?

10. Find the distance of the point (2, 3, 4) from the plane 
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                                            Section B
11.Prove that  the function f: R →R defined as f(x) = 2x-3 is invertible and find f-1(x)
12.Show that    sin –1 12 /13  + cos- 1  4/5  + tan –1 63/16  =  π  

13. Using the properties of determinant show that       
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14.  If xy = ex-y, Prove that  
[image: image8.wmf](

)

2

log

1

log

x

x

dx

dy

+

=

   

                                                                  OR

       If y= (sin-1x)2, Prove that 
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15.Find the intervals in which the function  f  given  by f(x)  =  sinx  +  cosx  ,  

         o ≤ x  ≤ 2 π 

16.Show that the lines  x+3/-3  =  y-1/1  =z-5/5  and x+1 /-1  = y-2/2 =z-5 / 5 are 

           Coplanar                    OR

     Find the angle  between the line  x+1/2  =y/3  = z-3 /6 and the plane 10x +2y – 11z  =3  

17.   . Evaluate 
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            Find  
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 18. Evaluate ∫ (x2 + 1) ex /(x+ 1 )2 dx  

 19.Two cards are drawn simultaneously with out replacement from well shuffled pack of                       52 cards . Find the  mean , variance , and standard deviation of the number of kings .

20 .Obtain the invers of the following matrix using elementary  operation 


        A = 
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21. Find the general solution of the differential equation y dx –(x+2y2 ) dy =0

22. Find the particular solution of the differential equation x2dy+(xy +y2)dx =0 Given that y=1 when x=1

                                                      SECTION “C”
23. Determine the product Of the matrices    
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 EMBED Equation.3  [image: image14.wmf]ú
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 and use it to solve the system of equations   x-y+z=4 ,  x-2y-2z=9  , 2x+y+3z=1.

24.Prove that the volume of the largest cone that can be inscribed in a sphere of radius

     R is 8/27 of the volume of the sphere.

                                                        OR

 Show that semi-vertical angle of  right circular cone of given surface area and maximum    volume is   Sin-1 (1/3).

25. Using integration ,find the area of the region bounded by the triangle whose vertices are                         (1,0), (2,2) and    (3,1).                      OR

 Find the area of the region enclosed between the two circle x2 + y2 = 4 and    (x –2)2 + y2 = 4 

26. Find the equation of the plane passing through the line if intersection of the planes 

     2x+y-z-3=0 and 5x-3y+4z+9=0 parallel to the line 
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 27.A house wife wishes to mix up two kind of foods X and Y in such a way that mixture contains at least 10  units of vitamin A, 12 units of vitamin B and 8 units of vitamin C. The vitamin contents of 1 kg of food X  and 1 kg of food Y are as given  in the following table:

	Food
	Vitamin A


	Vitamin B
	Vitamin C

	X


	1
	2
	3

	Y


	2
	2
	1


28. Bag –I contains 3 red and 4 black balls while another bag –II contains 5 red and 6 black balls.  One  ball is drawn at random from one of the bags and it is found to be red. Find the probability that it was  drawn from bag –II.
 29 Evaluate:   ∫    [√ (tanx) + √ (cotx) ] dx  .

  By- K.R. Choudhary
  P.G.T.-Mathematics

  J.N.V.-Atru ,Dist-Baran (Rajasthan)-325218

 Mob.-9460130300

 E-Mail choudharykram@gmail.com
-------------------------------------------------------------------------------------------------------
www.cbseguess.com
Other Educational Portals
www.icseguess.com | www.ignouguess.com | www.dulife.com | www.magicsense.com

_1248087232.unknown

_1283695648.unknown

_1294212910.unknown

_1473244790.unknown

_1294213195.unknown

_1294211961.unknown

_1248087305.unknown

_1247853804.unknown

_1248086939.unknown

_1151780494.unknown

_1151873519.unknown

_1152786702.unknown

_1151873451.unknown

_1149451286.unknown

_1149458670.unknown

